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20. 3%0. 05 m° 1.0




faE L (GH2TE EaE)
ARl TS Givke2 it 1 = HAfTL NF S
ar s J—h 18-5-40 K7y 7 HEITIRELES R
A A
ATy 2.37 + 2.28 m’ 4.7
B7w 3.88 + 6. 57 m’ 10.5
m’ 15. 2




fjan 1. (5527 ELEE)

ARl TS Givke2 it ) = HAfTL NF S
ar s J—h 18-5-40

A7 oy 7 Tl A3 WL : 1/2%0. 500%1. 000 .25
Wrimi2 © 1/2% (1. 500+1. 000) *1. 000 .25

1/3%0. 25%0. 500+1/2% (0. 25+1. 25) *1. 000 m’ 0.79
A4 Wrifil @ 1/2%0. 500%1. 000 .25
Wrimi2 © 1/2% (1. 500+1. 000) *1. 000 .25

1/3%0. 25%0. 500+1/2% (0. 25+1. 25) *1. 000 m’ 0.79
A-5 Wrifil @ 1/2%0. 500%1. 000 .25
W2 © 1/2% (1. 500+1. 000) *1. 000 .25

1/3%0. 25%0. 500+1/2% (0. 25+1. 25) *1. 000 m’ 0.79

A7 a7 P &F o’ 2.37




fjan 1. (5527 ELEE)

ARl H Givke2 it Y 7 a
ar s J—h 18-5-40
B7 w7 T/l B-4 WL : 1/2%0. 500%1. 000 .25
Wriii2 © 1/2% (1. 500+1. 000) *1. 000 .25
1/3%0. 25%0. 500+1/2% (0. 25+1. 25) *1. 000 0.79
B-5 Wrl © 1/2%0. 500%1. 000 .25
Wriii2 © 1/2% (1. 500+1. 000) *1. 000 .25
1/3%0. 25%0. 500+1/2% (0. 25+1. 25) *1. 000 0.79
B-6 Wril © 1/2%0. 500%1. 000 .25
Wriii2 © 1/2% (1. 500+1. 000) *1. 000 .25
1/3%0. 25%0. 500+1/2% (0. 25+1. 25) *1. 000 0.79
B-7 Wrl © 1/2%0. 390%1. 300 .25
Wriii2 © 1/2% (1. 390+1. 000) *1. 300 .55
1/3%0. 25%0. 650+1/2% (0. 25+1. 55) *1. 000 0.95
B-8 Wrl © 1/2%0. 390%1. 300 .25
Wriii2 © 1/2% (0. 780+0. 390) *1. 300 .76
1/3%0. 25%0. 650+1/2% (0. 25+0. 76) *1. 000 0.56

B7 vy 7 A




fjan 1. (5527 ELEE)

ARl TS AL it ) 2V HAfTL N S
a7 Y—h 18-5-40

A7 a7 Bl A4 WrEil © 1/2%0. 850%1. 000 = 0.43 p°
Wriii2 © 1/2% (1. 700+0. 850) *1. 000 = 1.28 p°

1/3%0. 43%0. 500+1/2% (0. 43+1. 28) *1. 000 m’ 0.93
A-5 Wrl © 1/2%0. 850%1. 000 = 0.43 ’
Wriii2 @ 1/2% (2. 550+1. 700) *1. 000 = 2.13 ’

1/3%0. 43%0. 500+1/2% (0. 43+2. 13) *1. 000 m’ 1.35

A7 w7 B G o 2.28




fjan 1. (5527 ELEE)

B

B

it 5

ary7y—hr

18-5-40

B7 vy 7 LA

Wrid1 : 1/2%0. 850%1. 000

.43

W2 © 1/2% (2. 550+1. 700) *1. 000

.13

1/3%0. 43%0. 500+1/2% (0. 43+2. 13) *1. 000

1.35

B-5

WriE1 : 1/2%0. 850%1. 000

.43

W2 © 1/2% (2. 550+1. 700) *1. 000

.13

1/3%0. 43%0. 500+1/2% (0. 43+2. 13) *1. 000

1.35

B-6

WriE1 : 1/2%0. 850%1. 000

.43

W2 © 1/2% (2. 550+1. 700) *1. 000

.13

1/3%0. 43%0. 500+1/2% (0. 43+2. 13) *1. 000

1.35

B-7

WriE1 : 1/2%0. 390%1. 300

.25

W2 : 1/2% (2. 090+1. 700) *1. 300

.46

1/3%0. 25%0. 650+1/2% (0. 25+2. 46) *1. 000

1.41

B-8

WriE1 : 1/2%0. 390%1. 300

.25

W2 © 1/2% (1. 630+1. 240) *1. 300

.87

1/3%0. 25%0. 650+1/2% (0. 25+1. 87) *1. 000

B7 vy 7 LA

o




fEE L (GH2TE EAE)
ARl TS Givke2 it ) = HAfTL N S
LT e /NS R) &7 a7 HEITRELUBFES R
A A
ATy 2. 50 + 3. 41 m’ 5.9
B7w 6. 06 + 10. 72 m’ 16.8
m’ 22.7




fjan 1. (5527 ELEE)

ARl TS k=2 i Y = HAfTL NF S

LT e /NS R) 1.059 : &b

A7 vy 7 TRl A4 1/2% (1. 500+1. 000) *1. 000 m’ 1.25

A-5  1/2%(1.500+1.000)*1. 000 m’ 1.25

A7 a7 Pl &F o’ 2. 50

1.059 : &k

B7' v v FHifl] B-4 1/2%(1.500+1.000)%*1. 000 m’ 1.25

B-5 |1/2%(1.500+1.000)%*1. 000 m’ 1.25

B-6 |1/2%(1.500+1.000)%*1. 000 m’ 1.25

B-7 1/2%(1.390+1.000)*1. 300 m’ 1.55

B-8 1/2%(0. 780+0. 390) *1. 300 m’ 0.76

B7 w7 Tl AEt n’ 6. 06




fjan 1. (5527 ELEE)

ARl TS k=2 i Y = HAfTL NF S
LT e /NS R)
A7 vy 7 B A-41/2%(1. 700+0. 850)*1. 000 m’ 1.28
A-5  1/2%(2.550+1.700)*1. 000 m’ 2.13
A7 a7 Pl &F o’ 3.41
B7 vy 7 Lyl B-4  1/2%(2.550+1.700)*1. 000 m’ 2.13
B-5 |1/2%(2.550+1. 700)*1. 000 m’ 2.13
B-6 |1/2%(2.550+1. 700)*1. 000 m’ 2.13
B-7 1/2%(2.090+1. 700)*1. 300 m’ 2. 46
B-8 1/2%(1.630+1.240)*1. 300 m’ 1.87

B7 w7 Tl AEt n’ 10.72




KN

A BB G it X K XA AN FE S
oK & T
a7 Y—*F 18-5-40
AR F2RHE PR TR X Y m” 130. 66
T i AR " m’ 96. 32
1/2%(130. 66+96. 32) *1. 80 m’ 204. 3
H Hikf JEHE t=10mm 1:0. 2044 1. 020 1:0.5DAHE 1118 1:0. 5504 1. 141
C AR Tl 1/2%(11. 525+9. 592) *1. 80%1. 020 m’ 19.4
527 H BE R 1/2% (7. 00+5. 41) *1. 80%1. 141 m? 12.7
fiti T H 1/2%(9. 014+7. 218) *1. 80 m’ 14.6
TBEE T HEee s A A 1/2%(11. 597+12. 879) *1. 80%1. 118 m’ 24. 6
el 1/2% (14, 527+15. 837) *1. 80%1. 118 m’ 30. 6
m’ 101.9
N=T A A t=bem Pl SR Y- ) m” 92. 1




A BB G G S
2- 1 BEE J T (45 ARl BT BRI LA R E S
27 Y—Fh 18-5-40
NO. 1+4. 0~NO. 1+4. 933 1/25% (2. 78+2. 91) %0. 933
NO. 1+4.933~N0. 1+18.0  1/2%(2.91+4. 97) * (4. 597+7
NO. 1+18. 0~NO. 1+19. 345 1/2%4. 97*1. 345
51.7
T gL (RBBIH)
(Al NO. 1+4. 0~NO. 1+4. 933 1/2% (4. 93+5. 08)*0. 933 T
(Fff NO. 1+4. 933~NO. 1+18.0 | 1/2%(5. 08+7. 12)* (4. 597+7. 7
(Al NO. 1+18. 0~NO. 1+19. 345 | 1/2%7. 12%1. 345 .8
(5 NO. 1+4. 0~NO. 1+4. 933 1/2% (3. 46+3. 57)*0. 933 .3
(5 NO. 1+4. 933~N0. 1+18. 0 1/2% (3. 57+0. 81) * (4. 597+7. 4
(5 NO. 1+18. 0~NO. 1+19. 345  1/2%0. 81x1. 345 .5
109. 4
Kikz A7 VP ¢ 65
NO. 1+4. 0~NO. 1+4. 933 1/2% (0. 55+0. 46) %0. 933
NO. 1+4. 933~N0. 1+18. 0 1/2%(0. 46+0. 98) * (4. 597+7
NO. 1+18. 0~NO. 1+19. 345  1/2%0. 98%1. 345
9.5
W B 1A 200%200%10
NO. 1+4. 0~NO. 1+4. 933 1/2%(0. 05+0. 05) *0. 933
NO. 1+4. 933~NO0. 1+18. 0 1/2%(0. 05+0. 01) * (4. 597+7
NO. 1+18. 0~NO. 1+19. 345  1/2%0. 01x1. 345 0.4




FUBERE 7 T

B Bl K& B it B 2V & &k
2- 15 BEREE 5= T BT HEITIRG R ES R
BT Fyv hvtr—7 (1/2% (2. 40+4. 434) %12, 938+1/2%4. 434%0. 937) /1. 8 25.7
H Hups IEHEE =10
B 27 (B BEBEfE 1/25% (0. 30+0. 691) *2. 60 1.3
5 2T [ELBE ST T 1/2%(0. 691+0. 961) *1. 80%, (1°2+0. 55°2) 1.7
B 1 T (B REBE T 1/2% (0. 30+1. 26) 6. 727%y (1°2+0.2"2) 5.4
) -MEE LD 1/10%51. 7 5.2
13.6
b GV EEEL t=5cm EREREEL Y (GF) 25.4




A BB G At B E2V XA AN FE & &k
2-275 fHBEE J T (e ) BT BRI LA R E S
27 Y—Fh 18-5-40
NO. 1+4. 0~NO. 1+4. 943 1/2% (2. 77+2. 89) %0. 943 m’ 2.7
NO. 1+4.943~N0. 1+18.0 | 1/2%(2.89+5. 02)* (7. 527+7. 00) n’ 57.5
NO. 1+18. 0~NO. 1+19. 345 1/2%5. 02%1. 345 m’ 3.4
n’ 63. 6
T AR (k5 )
(AE) | NO. 1+4. 0~NO. 1+4. 943 1/2% (4. 92+5. 06) *0. 943 m” 4.7
(A | NO. 1+4.943~N0. 1+18.0 | 1/2%(5.06+7. 18)* (7. 527+7. 00) m 88.9
(ATE) | NO. 1+18.0~NO. 1+19. 345 = 1/2%7. 18%1. 345 m’ 4.8
(%) | NO. 1+4. 0~NO. 1+4. 943 1/2% (2. 69+2. 72) %0. 943 n’ 2.6
(I5MH) | NO. 1+4.943~N0. 1+18.0 | 1/2%(2.72+1. 01)* (7. 527+7. 00) m’ 27.1
(%) | NO. 1+18.0~NO. 1+19. 345  1/2%1.01%1. 345 m’ 0.7
n’ 128. 8
KikE AT VP ¢ 65
NO. 1+4. 0~NO. 1+4. 933 1/2% (0. 43+0. 46) %0. 943 m 0.4
NO. 1+4. 933~N0. 1+18. 0 1/2%(0. 46+1. 00) * (7. 527+7. 00) m 10.6
NO. 1+18. 0~NO. 1+19. 345  1/2%1. 00%1. 345 m 0.7
m 11.7
W B 1k B4 200%200%10
NO. 1+4. 0~NO. 1+4. 933 1/25(0. 04+0. 04) *0. 943 n? 0.04
NO. 1+4. 933~NO0. 1+18. 0 1/2%(0. 04+0. 01) * (7. 527+7. 00) m’ 0. 36
NO. 1+18. 0~NO. 1+19. 345  1/2%0. 01x1. 345 n? 0.01 0.4




FUBERE 7 T

A BB G it X K XA AN FE S
2-275 fHBEE J T BT BRI LA R E S
2T vy hUr—7 (1/2% (2. 40+4. 479) *15. 878+1/2%4. 479%0. 937) /1. 8 m 31.5
H Hipt JEEH WMEE t=10
FoMmEEEREGEE | BEE | 1/2%(0. 30+0. 69) *2. 60 m’ 1.3
W2 EREREGEES | NP 1/2%(0. 69+0. 960) *1. 80%y (172+0. 55°2) m’ 1.7
o5 1 T [H BEEE T 1/2%(0. 30+1. 264) %6. 727, (1°2+0.2°2) m’ 5.4
) -MEE L 1/10%63. 6 n’ 6. 4
m’ 14.8

N=FAf JERER t=bcm EREREEL Y (B m’ 30. 3




21 SRl B 5= ek

[1.0m%4 D]

KikE N4 T
VP 65mm

[

H1

QA
EEEE SRR

1800

0% H B ub kmnET

200X200X10

B #h#4t=10

BEE

t=5cm
HH A HAZ /N
[ H= 4.406 m , Hl= 2.606 m , H2= 1.800 m , h= 3.268 m
JEBE  Wi= 0. 30+(0. 5-0. 35) *4. 406 m 0. 961
KR & X GJEIEW2= 0. 30+ (0. 5-0. 35) *2. 606 m 0. 691
2>z Y—h 1/2%(0. 30+0. 961) *4. 406 m’ 2.78
TR (Rl ) 4. 406%y (172+0.5°2) m’ 4.93
IR (F51H) 3.268%y (172+0.35°2) m’ 3. 46
AR E RSy )-h | 1/2%(0. 30+0. 691) *2. 606 m’ 1.29
K E AT 1/3%1. 29 m 0.43
W B 1A 1/3%3. 268%{ (172+0. 3572) *0. 20%0. 20 m? 0. 05
[ H= 4.547 m , Hl= 2.747 m , H2= 1.800 m , h= 3.370 m
JEME  Wi= 0. 30+(0. 5-0. 35) %4, 547 m 0. 982

KPR & S RIEMEW2= 0. 30+ (0. 5-0. 35) %2. 747 m 0.712
2>z Y—h 1/2% (0. 30+0. 982) %4. 547 m’ 2.91
TRy (A7) 4,547%{ (172+0.572) m’ 5. 08
TR (F51H) 3.370%y (172+0. 35°2) m’ 3.57
KRR E RS- | 1/2%(0. 30+0. 712) *2. 747 m 1.39
KikENA T 1/3%1. 39 m 0. 46
W B 14 1/3%3. 370%y" (1°2+0. 3572) %0. 20%0. 20 m’ 0.05




21 SRl B 5= ek

[1.0m%4 D]

KikE N4 T
VP 65mm

QA
EEEE SRR

[

H1

1800

0% H B ub AmET

200X200X10

_Eh#ft=10

BEE =

HH A HAZ /N
[ H= 6.370 m , Hl= 4570 m , H2= 1.800 m , h= 0.765 m ]
JEHE  Wi= 0. 30+(0. 5-0. 35) *6. 370 m 1. 256

KR & X GJEIEW2= 0. 30+ (0. 5-0. 35) *4. 570 m 0. 986
2>z Y—h 1/2%(0. 30+1. 256) %6. 370 m’ 4.96
TR (Rl ) 6. 370%y (1°2+0.5°2) m’ 7.12
AP (E5iA) 0. 765%/ (1°2+0.35°2) m’ 0. 81
K EXF G- 1/2%(0. 30+0. 986) *4. 570 m’ 2. 94
K E AT 1/3%2. 94 m 0.98
W H B Lk B 1/3%0. 765%y (172+0. 3572) *0. 20%0. 20 m’ 0.01




22 SRl BT 5= R

[1.0m%4 D]

KikE N4 T
VP 65mm

[

H1

QA
EEEE SRR

1800

0% H B ub kmnET

200X200X10

B #hi#tt=10

BEE

t=5cm
HH A HAZ /N
[ H= 4.400 m , Hl= 2.600 m , H2= 1.800 m , h= 2.540 m
JEBE  Wi= 0. 30+(0. 5-0. 35) *4. 400 m 0. 960
KR & X GEIEW2= 0. 30+ (0. 5-0. 35) *2. 600 m 0. 690
2>z Y—h 1/25% (0. 30+0. 960) 4. 400 m’ 2.77
TR (Rl ) 4. 400%y (1°2+0.5°2) m’ 4.92
IR (F51H) 2. 540%y (172+0. 35°2) m’ 2. 69
AR E RtGav))-h | 1/2%(0. 30+0. 690) *2. 600 m’ 1.29
K E AT 1/3%1. 29 m 0.43
W B 1A 1/3%2. 540%{" (172+0. 3572) *0. 20%0. 20 m? 0. 04
[ H= 4.523 m , Hl= 2.723 m , H2= 1.800 m , h= 2.568 m
JEME  Wi= 0. 30+(0. 5-0. 35) *4. 523 m 0.978

KR & S RIEMEW2= 0. 30+ (0. 5-0. 35) %2. 723 m 0. 708
a7 J—Fh 1/2%(0. 30+0. 978) %4. 523 m’ 2. 89
TRy (A7) 4,523%{ (172+0.572) m’ 5. 06
TR (F51H) 2.568%y (172+0. 35°2) m’ 2.72
KR E RS-k | 1/2%(0. 30+0. 708) *2. 723 m 1.37
KikENA T 1/3%1.37 m 0. 46
W B 14 1/3%2. 568y (1°2+0. 3572) %0. 20%0. 20 m’ 0. 04




22 SRl BT 5= R

[1.0m%4 D]

KikE N4 T
VP 65mm

QA
EEEE SRR

[

H1

1800

0% H B ub kmnET

200X200X10

B #hi#tt=10

BEE

t=5cm
HH A HAZ /N
[ H= 6.425 m , HlI= 4.625 m , H2= 1.800 m , h= 0.953 m ]
JEHE  Wi= 0. 30+(0. 5-0. 35) *6. 425 m 1. 264

KR & X GJEMEW2= 0. 30+ (0. 5-0. 35) *4. 625 m 0. 994
2>z Y—h 1/2%(0. 30+1. 264) %6. 425 m’ 5.02
TR (Rl ) 6. 425%/ (1°2+0.5°2) m’ 7.18
AP (E5iA) 0.953%/ (1°2+0.35°2) m’ 1.01
K EXF G- 1/2%(0. 30+0. 994) *4. 625 m’ 2. 99
K E AT 1/3%2. 99 m 1.00
W H B Lk B 1/3%0. 953%y (172+0. 3572) *0. 20%0. 20 m’ 0.01




% T

AR B ivkza &t L 2y HAfT N E & EF
Rk T
i) v T 3.7+0. 2 n? 3.9
R PARE ¢ 600 m 45.0
s P PR ¢ 300 m 45.0

=T —

T8 H=8. Om =
A —T v | EI=T V=Y

m 140

FI1EEEIF M

® 600

Rk TD S5 A=3. Tm2 {

N\t

RHEKE
®300

\ /

T 5% A=0.2m2




